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Beni-Suef University

Industrial Education College Second Year ( Miech. Dept. )
. First Term : 2011 /2012
Subject: Techkrnical Drawirig Time ailowed: 3 hours

Final Exarrtirtaiior:

The elevatiorn and plarn of a machine part are showsrr. Draw, full size the
Jollowirtg:--

I- The giver: plar.

2~ Sectiornnal elevatiorn ar A--4.

3- End elevatiortn looking in the directiornn of X.

4- Frnter all dirntertsions orn your drawings.
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BENI SUITF UNIVERSITY term : first / 20131-2012
Automatic Control Technology Department Date : 18/01/2612
QUESTIONS FOR THE FINAL WRITTEN EXAM
Saubjecr: BASIC EL ECTRONICS Spec:Znd EFlect & Con. Tech
Examiner: Prof. Dr. R MOSTAFASK Prof. Dr. A. Abwahab Time: 3 Hours
Number of Pages: 2 Number of Questions: 4 Max WMiark: 60 Attempt all guestions
Note: EFQU AL rrrarks (Srrrarks or each part

1. a- Determine the voltage with respect to ground at each point in fig.1.a
(the diodes are silicon)
b- Find Ig , Ic and Ve in Fig. 1-b.
c-Draw the circuit of full-wave voltage doubler and explain its operation.

I, D> + 10 VvV
A - B R C - D
T k2
-+ -+
Ve, —ie—— T=—_ Vs2
25 V T e= 8 V

-

Fig. 1a

Fig. 1b

—-— O WV

2. a-Determine Icgay for the tramnsistor in Figure 2Za. What is the value of Ip
necessary to produce saturation? What minimum value of V) is necessary
for saturation?

b-For the circuit shown in fig2b: Determine Vg , Vo , V. ., Ic and Vg
c-Draw the practical and approximate static characteristic curves of a

silicon diode. + 12 Vv
+5 VvV
; 10 k$2 33 k€2 1.8 k2
Ry ’
VlNo—-——m > ﬁDC=150 Pae = SO
10 k2 .

5 k2 GO0

- = ol

Fig. 2a Fig. 2b

P. ..



BIENFI SUIF UNIVERSITY
Auntomatic Cont

term : Ffirst /2011-2012
rol Technology Department Date : 1S5/01/2012
QUESTIONS FOR THE FINAL WRITTEN EXAINM
Subject: ELECTRICAL, TECHNOLOGY Spec:2nd Elect & Con. YTech
‘ Examiner: Prof. Dr. RMOSTAKFA Time: 3 Hours
Number of nges: X Number of Questions:S Max Mark: 60 Attempt all guestions
Note: 7 I2 marks ] for each questiorn

(1) Calculate the currents In , I2Z ,and I3

in the circuit shown in figure (1) given that
R=20, X;=10C2, X =-20£2, V5;=50 V,
using the node voltage method.

Vg2=40V and Vs; leads Vg by 90°. Solve
D___/%\, ¥ 5
I 202 L

3 v ll.uF
} .
-J20 €2 L ) (:l is
Xy, J10 €2 < o
50_—1L° Vsl V52 40_"'2'0—2 v
_ — 40
)
Figure (1) 17,1 = 80 cos(200000¢t)
( 2) The sinusoidal v

oltage source in the circuit in fig.(2) is
veqe — BO cos(2000000) V

a. what is the period and freguency of the voltage vgr .
b. construct the phasor domain equivalent circuit.

c. find the steady state expression for v, i1, iz and is.

Figure (2)

( 3) Use A/Y tramnsformation for the circuit of fig.3. to find the currents Is
Find also the voltages V,and V,

,Io,and 14.

S €2 , . 8 O
-+
s 20 v 12 O

Fig4a
Use the principle of superposition to find the voltage v in the circuit of Fig. 4 and
find the power dissipated in the 20 £ resistor.

C4)

3D

Find the Theévnin's equivalent between terminals 4 and B

for the circuit of Fig. 3
to find the voltage V, and the power dissipated in the 10 L2 resistor.

Good Luck
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Beni-Suef University
Iindustrial Education College
Chemistry Department

Industrial Chemistry
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tBenz’—sueg’f’l Urniversity Second year first term exarn:.

Tndustrial Educatiorn Faculty lang tg\() \ qgri/"‘-‘ L Advanced MatHematics
Basic Science Departrert Fanuvary 20712 Time allowed tfiree frozers
_Answer all tfie following qiestiorns o sla=it Lam 51 5355 5 /el 5 (3 3Rl 9 A 1G3YY Aunia aludE) yala

(7) Find the different forrms of the equation of the straight line passing through the tarngernt points
between the surface (xX-2)°% +(y-2)% +=z% 8= +12=0 and both of XZ-pltane and YZ-plane. (15p0irts)

(2-a) Find an eqguation of the plane determined by P(4,-3,7T) , Q(6,-«4,7) and R(1,2,2 )

(2-b) Prove that the function Z=5xy satisfies Laplace’'s equation Z. . +2Z, =—O (710 points)

the following equations : X+ 2y=3 , y=2 & x4 = 1 ( 72 points )

(4-a) Identify and sketch the surface 16x° -9y° +36=z° =144 then classify its traces in each XY-plane
, XZ-plane and YZ-plane :

(4-b) In 3-D sketch the graph of the quadratic surface 4x°—y°-4z°=4 pPoes it has a trace in

theYZ -plane (8 points)

5)Find the directional derivative of f(x,y)=x2sin2y at (1, ) in the direction of v =3i — 4 j (6 points)

(6} A point move on a plane curve given by the vector equation r(t) = t2j +t k , find the following
7} the velocity , the speed and the acceleration of the moving point at t=17.

i) the unit tangent vector to the plane curve at t=2

i) the principal unit normal vector to the plane curve at (=3

iv) the curvature and the value of radius of curvature o the plane curve at t=4 ' 9 points)

(7) Find an equation of the tangent plane to the hyperbofoid given by z2-2x% -2y? -12 =0 at the point
(7.-7,4) also find the symmetric equation of the normal line to the same swrface at the sarme poirt.

(10 points)

Best wishres Dr- M. Shefrata
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Beni-Suef University
Industrial Education College Secaond Year ( Elect. Dept. >
- First Term : 2011 /2012
Subject: Techrnical Drawiris ‘Fime allowed: 3 hours

Firtal EXArirnnalior

The elevatiort arnnd end elevation of a cast irorn bracket are showrn beiow. Draw
Juell size the followirtg: -

I- Sectionnal elevation takernn orn B-B.

2- The givernn ennd elevatior:.
3- Plar.
&~

Erntter all dirmensions on your drawirngs.
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I. Read the following text and answer the guestions below.

Agdrplanes are a relatively recent invention. The first one flew just over 100 yvears ago. As little as
50 years ago, only simall numbers of people had ridden in an airplane. Today, air travel is one of the
most common means of tramsportation.

The place where you sit in a plane is called the cabin. The cabin is in a long tube called the body,
or fuselage, of the airplane. The fromt of the fuselage is called the nose. The pilot and copilot sit in the
cockpit right behind the nose. The pilot steers the plane in the cockpit. Your suitcase is stowed in the
cargo hold under the cabin.

Two big wings stick out from the fuselage. In back of the wings are moveable parts called flaps
and aileroms. These parts help control the plane. A big tail sticks up from the end of the fuselage. A
rudder, located on the back of the tail, helps the plane turn left and right.

Sets of wheels sit underneath the airplane. The airplane rolls on the wheels before it takes off and
after it lands. The wheels on big planes go up into the fuselage when the plane is in the air. They come
dovwn before the plane lIands.

There are different Kkinds of airplane emngines. Propeller engines turn propellers omn the nose or on
the wings. Propellers pull an airplane through the air. Jet emngines suck air in. They heat the air and
shoot it out of the back of the engine. Jet engines push the plane through the air. Turboprops are a
combination, using the power of a jet engine to turn a propeller.

Aldrplanes are heavier tham air. They meed to go faast in order to fly. Engines and wings make a
plane fly. Amn airplane builds up speed on a runway. Runways at airports are long concrete strips.
Runways in some faravway places camn be level places made of dirt or grass. Some planes can even take
off on water. When the plane is going fast enough, the pilot takes it up into the air.

The pilot uses many controls in the cockpit to fly a plane. The pilot pulls a wheel or stick back to
make the plane go up. Air rushing over and under the wings lifts the plane into the sky.

Dials on a control panel in the cockpit tell the pilot how high the plane is, how much fuel it has,
and which direction it is heading. A radar screen tells the pilot if other planes are nearby. The pilot
uses the rudder on the tail and the ailerons on the wings to make the plane turn.

It is timme to land. The pilot pushes thhe wheel or stick forward to make the plane go down. The
pilot lowers the wheels and landing gear. The plane touches dowmn on the runway. The pilot uses
brakes to slow and stop the plane.

Planes do different kinds of work. Passenger planes carry people in the cabin. Cargo planes carry
pPackages, boxes, and other things. Cargo planes do not have seats. Military cargo planes can carry
soldiers, tanks, and cannons. Some military planes are fighter jets. Some are bombers. Some military
jets take off and land on aircraft carriers at sea. Certain military planes can take off straight up like a
helicopter, then fly ahead like a plane. Crop-duster planes spray farm fields with chemicals that kill
bugs or fertilizexr that helps crops grow. Firefighting planes drop water or chemicals on forest fires.
Seaplanes have skis instead of wheels. They can land on Iakes in faraway places to deliver passengers,
supplies, and mail.

L.ong ago, people dreamed of flying like the birds. They tried to build machines that would fly.
The first people to succeed were two American brothers, Orville and Wilbur Wright. They made a
heavier-than-air machine of wood and cloth. It had an engine that turned a propeller. The brothers
made their first flight near Kitty Hawlk, Norith Carolina, on December 17, 1903,
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